March 08, 2016

x and y-intercepts

What does it mean to INTERCEPT
a pass in football?

The path of the defender crosses the path
of the thrown football.  cgg s

In algebra, what are x- and y-intercepts?
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x-intercept:

* . .
where the line crosses the x-axis

*the y-value is ALWAYS zero!

y

y-intercept:

* . .
where the line crosses the y-axis

*the x-value is ALWAYS zero!

*the "b" in the equation,y=mx+Db

y

(0, #)
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Steps for Finding the x-intercept:

1. Sub ZERO in for "y" 9\><+L(j=6
2. Simplify and solve for x 9\X+q( )

3. Write the co-ordinate (x-value ﬁ)

X=7
(¥ y) = (3,0)
Steps for Finding the y-intercept:

G
=<
2

1. Sub ZEROinfor X" 9(p)+44=©
2. Simplify and solve fory \\\

3. Write the CO ordlnate ( 0, y-value )

(0,3) 5‘/1/;)

Y
}
)73
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Ex. 1: Find the x and y-intercepts, then
graph the line.

a. x-2y=12 .
< o Voo 0 inhex
j) ; O\f\ Gthj 0-9\\5:,,&
A/0)=13 (0,9) _qw=13
(13 o\)( <13 i
l )(\ /Q , \ﬁ:_
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b. -3x + 35y =9
X—wnk ink
-> suby O'Qr‘j S O inhe ¥
“3x+ S(0) = q -40\”’)‘;\
. -3y= $9=
(- q
3| O\ /\’=‘} (()IIQ\ ﬁ:%
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e. /x+ 3y=21
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Ex. 2. Give an example of an equation that has:

a. no x-intercept

9=3
6 926 J=
b. no y-intercept
*:‘Q =8 =16 ¢ 4=

3:7

PO
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Homework:

x and y-intercept Homework Sheet
Pg.1: #1-4,7,10, 12, 13
Pg. 2-3: All
O-= Ry + /)
/=3y
R
“3Ss v
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